The Law of Total Tricks (Part II)
Last time, we made an observation of a curious dynamic that exists between the 4 hands in a given game of bridge. Assuming that we believe the LAW to be valid, how do we use this information to maximize our accuracy in common bidding situations? Consider the following deal:





♠ 7 6 4 2





♥ A 9





♦ 8 2





♣ T 9 5 3 2


♠ 9 3





♠ K Q J T 8


♥ Q 5 4




♥ J 6


♦ J T 9 6 5




♦ K 7 3


♣ K J 4




♣ Q 7 6





♠ A 5








♥ K T 8 7 3 2






♦ A Q 4





♣ A 8
NS can take 10 tricks in hearts, (taking a diamond finesse and ruffing a diamond before drawing trumps). EW can only take 6 tricks in diamonds (assuming South obtains a club ruff). This is 16 total tricks, which matches exactly with what our prediction would be, since there are 16 total trumps. It might seem that the deal is “rigged” so that the totals match and the LAW only seems to work. Not so. The working diamond finesse along with the diamond shortness in dummy is what allows NS to take 10 tricks in hearts. The exact same features are what allow NS to take so many tricks on defense. 
In all the examples so far, the LAW has been exactly right. In real life, this isn’t always so. However, if the LAW isn’t exactly right, it is usually off by no more than one – it’s rare to find a deal where it’s off by two or more tricks. Whether the LAW hits the number exactly on the head or not, it doesn’t change the fact that the information gives us a tremendous indication of how high to bid in most competitive situations. Fortunately, to use the LAW effectively, we don’t need an exact count of the trumps. We just need to be aware of how many trumps we think there are based on our own hand and the bidding. Nobody’s Vulnerable and you hold:
♠ KQJT62

♥KQ5
♦ 43

♣ 82



You

LHO

Partner
   RHO

 

 1S

  2D

    2S

     3D


  

  ??

Most people play that 3S here is competitive and not invitational to game. Should we compete to 3S? Let’s think about how many trumps there are. Partner probably has 3 spades for his raise – (if he has 4, he’s going to go to 3S no matter what we do), so our side has 9 trumps. They figure to have at least 8 diamonds for their 2-level overcall and raise – quite possibly nine. Therefore, the total number of trumps is 17 or 18. First, let’s look and see what we should do if there are only 17 trumps. Examine the following chart:

It’s important to understand this chart. From the bidding, we have assumed there are 17 trumps. The LAW tells us that we can expect 17 tricks. We want to consider how those 17 tricks might be divided, and what our resulting scores would be. On the left, we see what would happen if we play the hand in 3S, while on the right we see what happens if we let the opponents play in 3D. You will notice that, no matter how the 17 tricks are divided, the scores on the left side of the chart produce a better result than the right side. What does this tell us?

It tells us that if there are 17 trumps, we will always score better for playing 3S than defending 3D.  What if the 
opponents had 9 diamonds instead of the eight that we assumed?

Here, it’s even clearer to bid on. All of the better scores are on the left side of the chart. In particular, note the fact that both sides might have nine tricks and that bidding on produces a plus instead of a minus. With 18 trumps, no matter how the tricks are split, we will score better if we play 3S than if we defend 3D. The full deal:
♠ A 5 4





♥ A T 4





♦ 8 5





♣ T 6 5 4 3


♠ 9 7 3





♠ 8


♥ 9 7 2





♥ J 8 6 3


♦ A K J T 7




♦ Q 9 6 2


♣ A Q





♣ K J 9 7





♠ K Q J T 6 2








♥ K Q 5






♦ 4 3





♣ 8 2

Note that each side easily takes 9 tricks, exactly what the LAW predicted! Clearly then, if we think there are 18, or even 17 trumps, we want to compete to 3S. The LAW tells us to! Granted, this might have been a problem easily solved without the LAW, but not all decisions are so simple: Both Vul. – you hold:
♠ QT54

♥Q9875
♦ J32

♣ 7



Partner
   RHO

You

LHO

 
   1NT

    Pass


 2C

 Dbl


  
    2H

    Pass


Pass

  3C



   Pass

    Pass  

 ??
Despite your lack of high card points, your instinct should tell you to bid 3H. Does the LAW justify it? Unless partner has 4 clubs, they likely have nine of them. You KNOW that your side has nine hearts, so the number of total trumps is likely to be 18. As we have already seen, with 18 trumps, we want to outbid them at the 3-level. Look at the chart again and see what happens when we pass. The LAW tells us to bid 3H! The full deal may look like this:

♠ Q T 5 4





♥ Q 9 8 7 5





♦ J 3 2





♣ 7


♠ 8 7 6 2




♠ A 9


♥ T 4





♥ 6 3



♦ A T 8 7




♦ K 6 5


♣ A 9 3




♣ K Q T 6 4 2





♠ K J 3







♥ A K J 2
♦ Q 9 4


Note each side easily takes 9 tricks





♣ J 8 5


if allowed to play in their 9 card suit.
Here is another example where knowing the LAW will direct you to the winning decision. Both Vul. You hold:

♠ K876

♥K53

♦ KT72
♣ KJ        with the following auction:
You

LHO

Partner
   RHO

 

 1D

  1H

   DBL

     2H

  

 2S

  3H

   Pass

     Pass

 ??
You’ve opened a borderline hand, but it meets the criteria of 13 hcp with 2 Quick Tricks. The opponents have competed to 3H. There is no need to guess. This is a perfect situation for the LAW.  Your partner’s negative double has shown exactly 4 spades. We have 8 trumps. If partner had a singleton heart, he probably would have bid 3S himself, therefore we can assume he has a doubleton heart and the opponents have 8 trumps as well. Let’s look at the chart for 16 total trumps and see if we can find the winning action:


As can easily be seen, the right side of the chart (letting them play 3 hearts) will produce a better score for us no matter how the tricks are divided. This indicates that we should pass and let them play 3 hearts. Bidding on to 3S can not be a winning proposition. Note particularly the most likely event where both sides can take exactly 8 tricks. Defending will produce +100 while bidding will result in -100. The full deal might be:

♠ A Q 9 4





♥ 8 4





♦ Q J 5





♣ T 9 6 3


♠ J T





♠ 5 3 2


♥ A T 7 6 2




♥ Q J 9


♦ 8 6 4





♦ A 9 3


♣ A Q
4




♣ 8 7 5 2





♠ K 8 7 6







♥ K 5 3






♦ K T 7 2





♣ K J
You are playing with an expert in a knockout match. With nobody vulnerable, you hold:

♠ Q83

♥KT42
♦ 764

♣ A94   and the auction proceeds as follows:


Partner
   RHO

You

LHO

 
   1C

    2D*


 Dbl**

 4D
* Weak, preemptive



  
   Dbl

    Pass


  ??

 
** Negative

Perhaps you are not a fan of the negative double, but you have too much to pass. Partner’s double is NOT penalty. He is saying he has a good hand, and expects you to make the right decision. Is the right decision to pass or bid 4H? Partner clearly has short diamonds. With a void, he might have bid a suit, so he probably has a singleton. His most likely shapes are: 4-4-1-4, 3-3-1-6, 3-4-1-5, and 4-3-1-5. With his short diamond and extra values, 4H looks like it might have good play. In fact, in a Spingold match over a decade ago, that is exactly what LAW author Larry Cohen chose to bid! Does the LAW justify his action?

Let’s stop and think for a moment. Partner does NOT have 5 hearts, so we have 7 or 8 trumps. Let’s assume it’s the hoped for eight. Partner is unlikely to hold a void and give us a choice of defending – he would have picked a major. Thus, we can assume partner has a singleton diamond, giving the opponents 9 of them. Let’s go back and look at our chart for 17 trumps with nobody vulnerable.


Going by the chart, the LAW tells us that if we can make 10 tricks (+ 420), we can expect to collect 500 by defending.  In fact, the chart tells us that for every outcome where we can make at least 7 tricks in hearts, we would score better by defending 4Dx. What if we have only 7 trumps? It only makes pass even clearer. Remember how we assumed best case scenario? We assumed – for a starting point – that partner had 4 hearts. You can see now that it doesn’t matter whether partner has 4 hearts or 3. The LAW screams PASS! The deal:
♠ A J 5 2





♥ A 8 7 5





♦ 3





♣ K Q J 5


♠ T 9 7 6




♠ K 4


♥ Q J 9 3




♥ 6


♦ A K 8




♦ Q J T 9 5 2


♣ 8 7





♣ T 6 3 2





♠ Q 8 3







♥ K T 4 2






♦ 7 6 4





♣ A 9 4
Larry Cohen was not a dedicated student of the LAW at this time. He was still an expert player, and his expert instincts told him to bid, rather than pass. He lost a spade, 2 hearts, and a diamond, and went down one for -50. EW would have lost at least 1 spade, 1 heart, and 2 clubs. Assuming a trump lead (the best lead) they’d lose at least 3 clubs, and might even be held to 7 tricks. Not surprisingly, NS had nine tricks and EW had eight for a total of 17 tricks to match the 17 trumps.

You might think it was unlucky that hearts broke 4-1. Not so. If they had broken 3-2, it would only translate into EW going down an extra trick in 4Dx, which would still make Pass the winning action.  That’s the point of the LAW. There are only so many tricks available on a deal, and likely outcomes can be predicted. Give the North expert (Marty Bergen) credit for doubling 4D. Many would have simply picked a major, going down in a 4-4 (or 4-3) fit. Double was a far superior action, if partner can work out the best answer. West’s 4D bid was questionable, but it worked out well (and often will), when NS can be pushed into bidding too high. 



We play the hand in 4H:		They play the hand in 4D doubled:


  Our # of Tricks	Our Score	Their # of Tricks	Our Score


         11		   +450		          6		    +800 


         10		   +420	  	          7		    +500


          9		    -  50		          8		    +300


          8		    -100		          9		    +100 








  	        Chart for 16 Total Tricks – Both Vulnerable





We play the hand in 3S:		They play the hand in 3H:


  Our # of Tricks	Our Score	Their # of Tricks	Our Score


         10		   +170		          6		    + 300 


          9		   +140		          7		    + 200


          8		   - 100		          8		    + 100


          7		   - 200		          9		    -  140 








South	West	North	East


 1NT	   P	 3NT	All Pass





                  Chart for 18 Total Tricks – Nobody Vulnerable





We play the hand in 3S:		They play the hand in 3D:


  Our # of Tricks	Our Score	Their # of Tricks	Our Score


         10		   +170		          8		    + 50 


          9		   +140		          9		    -110


          8		    - 50		         10		    -130


          7		    -100		         11		    -150 


  








  	        Chart for 17 Total Tricks – Nobody Vulnerable





We play the hand in 3S:		They play the hand in 3D:


  Our # of Tricks	Our Score	Their # of Tricks	Our Score


         10		   +170		          7		    +100 


          9		   +140		          8		    + 50


          8		    - 50		          9		    -110


          7		    -100		         10		    -130 








